LW

1962 BlZ=

AS-AA/AB RINR / kAR
Rremiumiefificiency (IE3) J@2AHP'~ 75 HP.




B EEE AEES-AA (BiIhE ) E=/KREiE WATER PUMP MOTOR

- A
| _AD - 4-@STap
DeepZ

" B AC
~ I | AD _ 4-@STap
DeepZ |

T
i
il
@)
HTHAFQ
W N

8 AlC KK Hole “ ‘ AE | AL OBKKHole |||/ AE | AAL
BB ‘ A R A
4-@KHoles /|~ AB _4-@KHoles /|  AB
y " n ol
] 4-@STep

_n
1

|

i

H _ED_ “‘7\ -ED_w o
ﬂ;{Kﬁchg Y i . H - LN/ \ 3 ! g
4-BK Holes & - _ _EA B D"i::”x @D _EA | EB |EC |
7IM~112M 132S~160M
N O G0N AR
SR~ DIMENSION (mm)
BE B dHhoururie 1B RERT wountep size

H HD AE AB BB KK HA AA AC L AD
FRAMENO Fic¢ 2P 4P INS A B D K

M 112 F 112 9 505 10 71 152 98 140 115 22 8 355 160 283 126
S0M 1 1 F 125 100 50 10 80 168 107 155 130 22 9 355 175 304 140
F 140 125 555 10 9 190 120 170 150 22 10 355 200 347 153
F 140 125 555 10 9 190 120 170 150 22 10 355 200 347 153
100L - 3 F 160 140 615 12 100 243 142 195 175 28 125 45 224 378 176
F
F
F
F

9L 2 2 2
90L 3 %

112M 5 5 190 140 695 12 12 265 149 224 175 28 14 45 238 4065 182
1328 1.5 1.5
132§ 10 216 140 83 12 132 310 1765 250 175 35 16 45 273 4705 2155

254210 101 145 160 378 215 300 250 35 18 45 342 5935 254

160M 3 1520 15

FR=F DIMENSION (mm>

B B MAZEE A RT FLANGE DIVENSIONS AU SHAFT END 87K BEARING
FRAVENO Fict DM ON @GP @S T Z E ED @D @DA F GA G W " X SEAY \EB FECH LSS 0..

7M1 130 1079 162 W5/16" 3 16 625 14 127 15875 3 142 112 M6 17 41 16 - 6204zz 62022z

80M 148 1143 174 W3/8" 3 15 675 15 16669 19.05 4 19169 14169 M8 20 44 18 - 6204z 6204zz
9L 2 148 - 1143 164 W3R" 3 12 675 15 16669 19.05 4 19169 14169 M8 20 44 18 - 62052z 6204z
90L 148 1143 164 W38" 3 12 675 15 16669 1905 4 19169 14169 M8 20 44 18 - 63052z 6204zz
100L 148 1143 184 W3/8" 3 12 675 15 16669 1905 4 19169 14169 M$ 19 44 18 - 62062z 62052z
112M 178 1143 200 WI12" 3 13 825 17 20639 254 5 23137 18137 MIO 20 56 20 - 63062z 63062z
1328 178 1143 240 WI2" 3 15 965 17 20637 25 5 23137 18137 MI2 - 56 20 14 63082z 63062z
1328 178 1143 240 WI12" 3 15 1095 29 269875 32 5 289875 239875 MI6 - 55 315 16 63082z 63062z

160M 3 178 1143 270 WI12" 3 20 1095 29 269875 32 5 289875 239875 M6 - 55 315 16 63102z 6307z

A
216 140 825 12 132310 1765 250 175 35 16 45 273 4575 2155



AEES-AB (kAE ) BEERKREE WATER PUMP

4-@S Tap
DeepZ

- =

07\ [
&

./ I \®
—— ¢
w
s i
|

OKKHole | | |/AE | OAAL

MOTOR

| — |
i T T | 4-@S Tap

DeepZ
/A

=

HD

w
| b =

!

. BKK Hole L - AE N BA
4akHaleg . AB | _4-@KHoles /| AB
Rs TIM~90L s 100L~112M
AC G “
- 4-@S Ta = AAD
o e
/. |
= wlf ,‘ = ES §, R N
| Tl s> i e gia st e
BKK Hole _BKK Hole | -/ AE AR KKHole |/ AE Al |
2 2l | A { A { A
40K Holes /| = 5 - 4-@KHoles I AB ) 4-@KHoles /| = iB
E B B
A 132S~132M S 160M~160L rers
B B Hhorowe B8 RERT wounte size H W AE 28 B oK HA "l 1 D
FRAVENO FiG# 2P 4P INS A B C D OK
7 4 172 12 F 112 90 58 60 10 71 152 98 140 115 22 8 355 160 2935 126
80M 1 1 F 125 100 60.5 60 10 80 168 107 155 130 22 9 355 175 3125 140 |
90L 2 2 F 140 125 66 60 10 90 190 120 170 150 22 10 355 200 356 133
90L 3 F 140 125 62 93.5 10 90 190 120 170 150 22 10 355 200 3855 153
100L 5 - 3 F 160 140 61 93 12 100 245 142 195 175 28 12.5 45 224 4085 175 |
112M 5 5 F 190 140 68 93 12 112265 149 224 175 28 14 45 238 422 182
1328 6 7510 75 F 216 140 1005 1155 12 132 310 1765 250 175 35 16 45 273 501 2155
132M - 10 F 216 178 1005 1155 12 132 310 1765 250 212 35 16 45 273 539 2155
160M 7 15 15 F 254 210 1185 1155 145 160 378 215 300 250 35 18 50 342 624 254
160L 20 20 F 254 254 1185 1155 145 160 378 215 300 300 35 18 50 342 668 254
160L 10 25 F 254 254 165 163 145 160 378 215 300 300 35 18 50 342 762 254
180M 8 30 2530 F 279 241 160 163 145 180 433 253 355 297 52 22 75 391 761 300
1I8OL 11 40 40 F 279 279 140 181 145 180 433 253 355 335 52 22 75391 797 300
200 9 50,60 5060 F 318 305 151 181 185 200 470 293 400 365 92 25 80 430 8435 365
2258 75 - F 35 286 159 181 185 225 525 307 450 350 92 30 90 468 866 385
2258 75 F 356 286 159 181 185 225 525 307 450 350 92 30 90 468 866 385

BEENOTE : LULABESEE - BXS17385 1. ALL DATA SUBJECT TO CHANGE WITHOUT PRIOR NOTICE.

2308 "H"RYMWAZE : +0, -05+ 2. TOLERANCE OF DIMENSIONS "H" : +0,-0.5.




| AD

4-@S Tap
DeepZ
NTAE (72
[E
T 1] ~
£ |
'QKK‘Hole. A_ |/IAE | AA| | '
4-0K Holes ‘ . A
3 AB R
Mo 200L~225S

<F>

— 3 ED
i S x—]
<<
[0 o
[ H
0 EA EB _

6-@S Tap
DeepZ

HD

BKK Hole |||/ AE
4-@K Holes ‘

B
FIG#10

160L(25HP)

4-@S Tap

" DeepZ

Wiep /| @ . 1
- 7IM~112M ( 1] :’lw—.f-ié g 3 |
E J e = $= PJ:I—H | Ty
lﬁi t g‘ | ylvf i B ¢ 7 0 -: ' ra;KKHoleld_ 1/
© © L _4-@KHoles /|
i e B 18OL
1328~2258 R
R~F DIMENSION (mm;
T — g  #ssuren B searG

oM am GeR T8 T 2 E ED @D @20A F  GA -6 WE B¢ W EA FEBN BIEG LS. 0S.

126 9% 149 W§16" 3 16 73 15 17 19 5 19 14 M8 20 42 18 - 6204z 62022z

126 96 146 W5/16" 3 5 73 15 17 19 5 19 4 M8 20 42 18 - 62042z 6204zz

126 96 146 W5/16" 3 18 73 15 17 19 5 19 14  M§ 20 42 18 62052z 6204zz

165 146 184 W38" 3 IS5 98 28 22 245 7 25 18 MI0O 20 615 32 - 63052z  6204zz

165 146 - 184  W3B" 3 16 ;8 28 725 7 725777 7 2757 18 MIO 23 61 32 - 606zz 62052z

165 146 200 W38" 9 120 9% 28 2 25 7 25 18 MO 20 61 32 - 6306zz 63062z

184 216 240 W3/8" 9 7 720 140 28 25 32 7 28 721 7 M16 R 585 32 25 63082z 63062z

184 216 240 W38" 9 20 140 28 25 32 7 2 21 M6 - 585 32 25 63082z 63062z

184 216 270 W38" 977725 N 140 7 8 28 32 7 317 24 7Ml67 - 585 32 25 63092z 6307z

184 216 270 W38" 9 25 140 28 28 32 7 3 24 M6 - 585 32 25 63092z 6307z

270 220 300 WI}Z'; 775 7 725 220 50 3; 3 10 355 27? M24 - 75 56 32 63092z 6307z

270 220 300 \7’\/1/2"7 5 20 220 50 32 38 10 7 355 727.5 M24 o 757 ?6 32 63llzz 63102z

300 270 350 W58 5 20 225 48 15777 507.8 127 48 : 74{0 7M247 . 93 56 32 63122z 6310z
7% 270 346 W5/§;" 52 : 2;5 748 745 508 12 4 40 7Ni24 . 93 56 32 6314z 6212z

300 270 360 WS8" 5 20 225 48 45 508 12 4 40 M4 - 93 56 32 6315zzC3 62122zC3

300 270 360 Ws58" 5 20 225 48 45 508 12 48 40 MM - 93 56 32 6315z 6213z

3.BE"D"RIAE : ER7IM~160M B h6 - 3. TOLERANCE OF DIMEI&ONS:_D 3 FRAI\AEVNO.i;liM ~ 160M 7F(;RE




AEES-AA /AB (RiIhE / kAR ) BEE&RKRHE WATER PUMP MOTOR

SEEMHNRE - FRBE  BERTE - EAHBE 60Hz : SF115(50Hz: SF10)
Totally Enclosed Fan Cooled, Squirrel Cage 3-phase 60Hz, Meet CNS 14400-2012 IE3 Efficiency (220V/380V)

EtH oureur Y EE ERER 7 (A) CURRENT %R Toraue R (%) EFFICENCY THERES (%) POWER FACTOR
Ef A FRAME FULLOAD  mEirullon BB lockeproor RE  BE 2 BX WG B8 88 #% a8 a8

oo PN R iy zy BV ol ol DonA 100% LOAD 7% LOAD §0% LOAD 100% LOAD 75% LOAD 50% LOAD

1075 2 80M 3440 315 18 22 130211 250 270 770 750 740 807 780 670
4 8M 1730 311 180 26 15 0420 270 350 855 845 85 736 620 480

2 15 2 9L 355 548 317 59 34 0415 220 270 855 860 845 836 810 710
4 9L 1705 6.08 352 45 26 0852 190 250 865 8.0 8.0 745 700 57.0

322 2 9L 355 817 473 87 50 0622 390 400 865 865 8.5 831 815 710
4 100L 1745 847 490 75 43 1249 210 250 895 900 895 7.5 750 63.0

S 37 2 112M 3515 127 74 130 75 1034 290 350 885 89.0 880 87.1 825 80.0
4 112M 1755 139 80 120 69 2070 230 350 895 90.0 895 787 710 670

7.5 55 2 1328 3515 199 115 140 81 1550 210 250 902 902 89.5 818 80.5 80.0
4 1328 1760 195 113 180 104 3.096 250 290 917 915 910 8.1 710 700

10 75 2 1328 3490 251 146 200 116 2082 250 290 902 902 895 865 840 770
4 132M 1755 265 154 230 133 4140 210 270 917 920 915 80.6 780 720

15 11 2 160M 3545 361 209 280 162 3.074 200 250 917 920 91.0 887 865 84.0
4 160M 1770 379 219 290 168 6.158 220 250 924 924 920 839 800 745

20 15 2 160M 3530 482 279 390 226 4117 210 260 917 920 915 886 840 81.0
4 160L 1770 502 29.0 400 232 8210 230 250 93.0 930 925 8.9 810 750

25 185 2 160L 3545 605 350 500 289 5124 210 260 924 924 920 876 843 825
4 180M 1770 641 371 470 272 10263 240 280 936 936 925 8.6 800 775

30 22 2 180M 3540 75 434 560 324 6158 170 230 930 930 920 842 823 800
4 180M 1765 729 422 560 324 12350 250 300 936 935 935 8.1 80.0 73.0

40 30 2 I80L 3535 984 570 840 486 8222 190 220 935 940 930 851 825 80.0
4 180L 1760 964 558 720 417 16514 200 240 941 945 940 863 835 770

50 37 2 200L 3555 121 70 960 556 10219 220 280 930 925 915 870 825 79.0
2 200 1765 122 71 870 504 20584 190 220 950 950 945 845 810 750

60 45 2 200L 3550 143 83 1000 579 12281 200 230 936 935 925 878 843 815
2 200L 1770 147 85 1050 608 24.631 190 230 955 955 955 8.7 805 750

7555 2 2258 3545 175 102 1310 758 15372 170 220 945 950 945 888 870 85.0
22258 1770 185 106 1440 834 30.788 230 250 955 955 950 831 800 78.0

&t Note : 1. sBA7 A IKIE [EEE 112 5% B & - CNS 10919 - Test method based on IEEE 112 method B, CNS 10919.
2. 5 E I IEC60034-1 - Tolerance in accordance with IEC60034-1.
3. REMEERS CNS 14400-2012 1E3 EK - Min. effi ciency in accordance with CNS 14400-2012 IE3.

4¥E R - 8F  BELREEMLE - WEREFESETNEE - Efficiency, power factor, speed, torque is not due to voltage changes,
only the current value due to voltage and change.

5. Bt RRIEEIERZZM - All data shown above are tested values for reference only.
6. I LBEEEEY - MAZBTEA - All data shown above is subject to change without prior notice.



Emi53 Product Feature

HE#Y% - FEZRE Convertible and easy maintenance:

EESEIRTHARERE - Bi5—1 - 100% T8 - SRLERUEE -

Standard dimension, 100% convertible, easy for installation and maintenance.

SiEHEMEEEME Reliable insulation material :

RAME - MR - ME22Z FREBEMN - FEBEZ2RMAY  EHREHE -

Use heat, moisture and chemistry-resisting material to meet F class insulation, safe and durable, longest lifetime.
mERSHER High aqality and performance:

mESHETE  BMEAEERMLE—RARERS 28 -

High and steady quality, outstanding performance, the perfmance is ample compared to the general specification value.
EAEAREHER Stainless steel shaft:

FEHERTEMER SUS410 FEl - WolikESERER SUS304 & - BHR2:E -

Applied SUS410 stainless steel material for shaft, or upgrade to SUS304 by request.

SR #EKEE High quality bearing and lubrication:

RS AREERME 2 BB M - sEEZBRNER -

Use high-quality bearing and lubricating grease to improve performance.

FHERET - SMBUEE Professional and elegant design :

EXRET - SEMNBEEEMINT - FrERRET - SMEUES -

Advanced mechanical process and strict inspection, newly design and elegant appearance.

E B g £ B &
B B CHEEIKEEEHE (SCM) -
MEtkE  EBRETIZREE (IEC60034) - PEEREHE (CNS 14400) ¢
E E BEEERE 200V - 220V - 380V - 400V - 440V - 460V - 480V S EEE -
i B X BEESEE 60Hz 3 50Hz -
BHEN AEES-AA (A(INEL) 2P : 1~20HP, 4P : 1~15HP ; AEES-AB (7KARZ!) 2P : 1~75HP, 4P : 1~75HP
SR BEFERSETE  FR%ESF: 1.15at60Hz (S.F: 1.0 at 50Hz) -
LI AEES-AA (% IHEY) 80M~160M ; AEES-AB (7KAKZ!) 80M~225S
REAX  2TESNEE (IPS4) -
RABEN 2 ZPHE®INERA (1C411) -
ZRAT AEES-AA - AEES-AB (BAT ) : 7KFERMIEEZ % (IM-1001) ; AEVS-AA - AEVS-AB (1Ix) : g% (IM-3011) -
B B SEEZHEX: :10%MA - FREEHE  15%0IA - REEHE : DEMBEBHEZNELONUA - BIEREEHE+5%LA -
B gEBE  BF:BA- BB -15°C~40°C - RE : BEHEE 95% LT (BREEEE ) - 125 : 818 1000 ARMT -
BEAN < EENEERERE -
B #® @ gHg-
BEAX 2EBEEEEE Y-ARE-
B & WDhkES SESTEHRHRESE-
ERE HERVMEBRAENSEGEDA  WAEF 90°C B%RH% - HAEKAZUNERALR  EERAH BEE -
HO& HLOREEZ 121K WEERKT -
EFBE  FRBE-
" Z2 £ PEEE DHGBERER ERESRKES Munsell 758G 4/2 -
8 s ISONH -
REBF  KIBIEEE-112 /7% B ER2BEEHIH -
¥ B B RIHEER EEE(EA%E: 10)- 123 180M MU T 8% 80°C LUK - 13 180L M+ : 5 100°C U -
BEEFE 120%ESERFE2 HE -
PEESE 160 % BEEEFEISH -
¥ % & CNS 14400 C4482 IE3 BARME -

ax

=3

§¢%ﬂ:\¥$ alt@ASKEESES Taipei Headguarter Motor Sales Dept.
LIANG CHI GROUP &BEHE#RMK Taoyuan Plant

BAR . ALHERRE=B—R (RHAE) Tel: (02) 2506-3588 #116, 117,121, 123 Fax: (02) 2508-4469
No.1, Sec. 3, Nanking E. Rd., Taipei, Taiwan E-mail : motor@liangchi.com.tw Http : //www.liangchi.com.tw
2. ETERENEBLE_B291% No.291, Sec.2, Hai-San Rd., Hai-Hwu Village, Luchou Hsian, Taoyuan, Taiwan



	IE3水泵馬達型錄6-1
	IE3水泵馬達型錄6-2
	IE3水泵馬達型錄6-3
	IE3水泵馬達型錄6-4
	IE3水泵馬達型錄6-5
	IE3水泵馬達型錄6-6

